MIXED Fz240_500 WITH EOGleft240_500 EOGright240_500 on_off ear_heart session peaknumber 
  /CRITERIA=CIN(95) MXITER(100) MXSTEP(10) SCORING(1) SINGULAR(0.000000000001) HCONVERGE(0, 
    ABSOLUTE) LCONVERGE(0, ABSOLUTE) PCONVERGE(0.000001, ABSOLUTE)
  /FIXED= EOGleft240_500 EOGright240_500 on_off ear_heart session peaknumber on_off*ear_heart | SSTYPE(3)
  /METHOD=REML
  /PRINT=SOLUTION TESTCOV
  /RANDOM=INTERCEPT peaknumber | SUBJECT(subject) COVTYPE(VC)
  /REPEATED= peaknumber | SUBJECT(subject*session*condition) COVTYPE(AR1).
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